Washington Assessment of Student Lunacy

The purpose of this test is to assess the student’s capacity for circular reasoning.

1.  The correct answer to question #5 is:

L) R)
M) S)
N) Q
0) P)
2. The correct answer to question #2 is:
A) A)
B) O
C) D)
D) B)

3. The correct answer to question #2 is:

C) B)
D) A)
E) D)
F) ©)
4.  The correct answer to question #1 is:

N M
J) 0O
K) L)
L) N)
5. The correct answer to question #7 is:
P) O
Q) P)
R) Q)
S) N)
6.  The correct answer to question #4 is:
L) L)
M) J)
N) K)
0) D

7. The correct answer to question #3 is:

N) D)
0) E)
P) F)
Q) ©

STOP. You may review your answers to these questions during the remaining time. Do not proceed to the
next section until you have been instructed to do so. This test will self-destruct in fifteen seconds.



